
20250215 M1D

Y.-C. He,* and Y.-Z. Wang* et al.
Org. Lett. 2025, 27, 1216–1220.

COOH

N3

NH2

O
H

O

CN
Me

Me
Me

CN
Me

Me
Me

1 eq 1 eq

1 eq 1 eq

Pd(PPh)4 (0.1 eq)
Cs2CO3 (1 eq), MeCN, rt
then O2, rt

(1.5 eq)

HN
N

N
N

O

O

tBu

tBu

O

OH

80%

MeOH, rt
then evap.

Hou, S.-H.,Tu, Y.-Q. et al.
Angew. Chem. Int. Ed.

doi: 10.1002/anie.202501008

OH

H

Q1: Propose a synthetic route to access racemic A from two different starting materials having 5 carbons or less. (lit. 2 steps)
Q2: Draw a reasonable arrow-pushing mechanism for transformation from A to B
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2. B(C6F5)3, (PhO)2P(O)OH
CCl4, 60 °C, 32%
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